

# Quantum Information Geometry: quantum metrics for finite dimensional systems

Patrizia Vitale<sup>a</sup>  
with V.I. Man'ko, G. Marmo and F. Ventriglia

<sup>a</sup> Dipartimento di Fisica Università di Napoli "Federico II" and INFN

*Policeta 13 july 2016*

On the occasion of the 70th birthday of Beppe Marmo

- Statistical manifold,

- Statistical manifold, statistical model,

- Statistical manifold, statistical model, classical metrics from divergence function

- Statistical manifold, statistical model, classical metrics from divergence function
- Quantum metrics from divergence functions

- Statistical manifold, statistical model, classical metrics from divergence function
- Quantum metrics from divergence functions
- Finite-dimensional quantum systems

- Statistical manifold, statistical model, classical metrics from divergence function
- Quantum metrics from divergence functions
- Finite-dimensional quantum systems
- The cases  $N=2$  and  $N=3$

- Statistical manifold, statistical model, classical metrics from divergence function
- Quantum metrics from divergence functions
- Finite-dimensional quantum systems
- The cases  $N=2$  and  $N=3$
- The tomographic picture
- Outlook



# Invariant divergence function

## Notation

- $\mathcal{P}(X)$  = statistical manifold of probability distributions  $p(x)$ ,  
 $x \in X$

# Invariant divergence function

## Notation

- $\mathcal{P}(X)$  = statistical manifold of probability distributions  $p(x)$ ,  
 $x \in X$
- $\mathcal{M} = \{p(x, \xi)\} \subset \mathcal{P}(X)$  statistical model parametrized by  $\xi$

# Invariant divergence function

## Notation

- $\mathcal{P}(X)$  = statistical manifold of probability distributions  $p(x)$ ,  $x \in X$
- $\mathcal{M} = \{p(x, \xi)\} \subset \mathcal{P}(X)$  statistical model parametrized by  $\xi$
- $\mathcal{M}$  is finite dimensional.  $\xi$  coordinates on  $\mathcal{M}$

**Divergence**  $D(\xi, \xi')$  between  $p(x, \xi)$  and  $p(x, \xi')$

- $D(\xi, \xi') \geq 0$

# Invariant divergence function

## Notation

- $\mathcal{P}(X)$  = statistical manifold of probability distributions  $p(x)$ ,  $x \in X$
- $\mathcal{M} = \{p(x, \xi)\} \subset \mathcal{P}(X)$  statistical model parametrized by  $\xi$
- $\mathcal{M}$  is finite dimensional.  $\xi$  coordinates on  $\mathcal{M}$

**Divergence**  $D(\xi, \xi')$  between  $p(x, \xi)$  and  $p(x, \xi')$

- $D(\xi, \xi') \geq 0$
- $D(\xi, \xi + d\xi) = \frac{1}{2}g_{jk}(\xi)d\xi_j d\xi_k + O(d\xi^3)$

# Invariant divergence function

## Notation

- $\mathcal{P}(X)$  = statistical manifold of probability distributions  $p(x)$ ,  $x \in X$
- $\mathcal{M} = \{p(x, \xi)\} \subset \mathcal{P}(X)$  statistical model parametrized by  $\xi$
- $\mathcal{M}$  is finite dimensional.  $\xi$  coordinates on  $\mathcal{M}$

**Divergence**  $D(\xi, \xi')$  between  $p(x, \xi)$  and  $p(x, \xi')$

- $D(\xi, \xi') \geq 0$
- $D(\xi, \xi + d\xi) = \frac{1}{2}g_{jk}(\xi)d\xi_j d\xi_k + O(d\xi^3)$
- $g = (g_{jk})$  positive-definite

**D** not symmetric, no triangular inequality .

# Invariant divergence function

## Notation

- $\mathcal{P}(X)$  = statistical manifold of probability distributions  $p(x)$ ,  $x \in X$
- $\mathcal{M} = \{p(x, \xi)\} \subset \mathcal{P}(X)$  statistical model parametrized by  $\xi$
- $\mathcal{M}$  is finite dimensional.  $\xi$  coordinates on  $\mathcal{M}$

**Divergence**  $D(\xi, \xi')$  between  $p(x, \xi)$  and  $p(x, \xi')$

- $D(\xi, \xi') \geq 0$
- $D(\xi, \xi + d\xi) = \frac{1}{2}g_{jk}(\xi)d\xi_j d\xi_k + O(d\xi^3)$
- $g = (g_{jk})$  positive-definite

**D** not symmetric, no triangular inequality .

**Invariance** : No information loss (**information monotonicity**) under coarse graining  $x \rightarrow y(x)$

# The classical case: Chentsov theorem

Classically: Given any invariant divergence, the invariant metric is unique → **the Fisher Rao metric**

# The classical case: Chentsov theorem

Classically: Given any invariant divergence, the invariant metric is unique  $\rightarrow$  **the Fisher Rao metric**

$$g(\xi) = k p d \ln p \otimes d \ln p$$



# The classical case: Chentsov theorem

Classically: Given any invariant divergence, the invariant metric is unique  $\rightarrow$  **the Fisher Rao metric**

$$g(\xi) = k p d \ln p \otimes d \ln p$$

- $\alpha$ -divergence function or Tsallis relative entropy

$$S_T(p, \tilde{p}) = (1 - q)^{-1} \{1 - \sum p^q \tilde{p}^{1-q}\}$$

# The classical case: Chentsov theorem

Classically: Given any invariant divergence, the invariant metric is unique  $\rightarrow$  **the Fisher Rao metric**

$$g(\xi) = k p d \ln p \otimes d \ln p$$

- $\alpha$ -divergence function or Tsallis relative entropy

$$S_T(p, \tilde{p}) = (1 - q)^{-1} \{1 - \sum p^q \tilde{p}^{1-q}\}$$

with  $\alpha = 2q - 1$ .

# The classical case: Chentsov theorem

Classically: Given any invariant divergence, the invariant metric is unique  $\rightarrow$  **the Fisher Rao metric**

$$g(\xi) = k p d \ln p \otimes d \ln p$$

- $\alpha$ -divergence function or Tsallis relative entropy

$$S_T(p, \tilde{p}) = (1 - q)^{-1} \{1 - \sum p^q \tilde{p}^{1-q}\}$$

with  $\alpha = 2q - 1$ .

- in the limit  $q \rightarrow 1$  **the relative Shannon entropy**

$$\lim_{q \rightarrow 1} S_T(p, \tilde{p}) = \sum p (\ln p - \ln \tilde{p})$$

# The classical case: Chentsov theorem

Classically: Given any invariant divergence, the invariant metric is unique  $\rightarrow$  **the Fisher Rao metric**

$$g(\xi) = k p d \ln p \otimes d \ln p$$

- $\alpha$ -divergence function or Tsallis relative entropy

$$S_T(p, \tilde{p}) = (1 - q)^{-1} \{1 - \sum p^q \tilde{p}^{1-q}\}$$

with  $\alpha = 2q - 1$ .

- in the limit  $q \rightarrow 1$  **the relative Shannon entropy**

$$\lim_{q \rightarrow 1} S_T(p, \tilde{p}) = \sum p(\ln p - \ln \tilde{p})$$

- **the metric**

$$g_{jk}(\xi) := - \frac{\partial^2 S}{\partial \xi \partial \xi'} \Big|_{\xi=\xi'}$$

**is the Fisher Rao metric** for any  $q$

# The quantum case: quantum Fisher-Rao metric

- The statistical model is replaced by the manifold of (N-dim) quantum states

# The quantum case: quantum Fisher-Rao metric

- The statistical model is replaced by the manifold of (N-dim) quantum states
- the potential function is now **the quantum Tsallis relative entropy**

$$\mathcal{S}_T(\rho, \tilde{\rho}) = (1 - q)^{-1} \{1 - \text{Tr} \rho^q \tilde{\rho}^{1-q}\}$$

# The quantum case: quantum Fisher-Rao metric

- The statistical model is replaced by the manifold of (N-dim) quantum states
- the potential function is now **the quantum Tsallis relative entropy**

$$\mathcal{S}_T(\rho, \tilde{\rho}) = (1 - q)^{-1} \{1 - \text{Tr} \rho^q \tilde{\rho}^{1-q}\}$$

- in the limit  $q \rightarrow 1$  we get the relative von Neumann entropy

$$\lim_{q \rightarrow 1} \mathcal{S}_T(\rho, \tilde{\rho}) = \text{Tr} \rho (\ln \rho - \ln \tilde{\rho})$$

# The quantum case: quantum Fisher-Rao metric

- The statistical model is replaced by the manifold of (N-dim) quantum states
- the potential function is now **the quantum Tsallis relative entropy**

$$\mathcal{S}_T(\rho, \tilde{\rho}) = (1 - q)^{-1} \{1 - \text{Tr} \rho^q \tilde{\rho}^{1-q}\}$$

- in the limit  $q \rightarrow 1$  we get the relative von Neumann entropy

$$\lim_{q \rightarrow 1} \mathcal{S}_T(\rho, \tilde{\rho}) = \text{Tr} \rho (\ln \rho - \ln \tilde{\rho})$$

- the metric

$$g_{jk}(\xi) = - \frac{\partial^2 \mathcal{S}}{\partial \xi \partial \xi'} \Big|_{\xi = \xi'}$$

is the quantum Fisher Rao metric **only for  $q = 1$**



# The quantum metric for generic $q$

- $\rho, \tilde{\rho}$  parametrized in terms of diagonal matrices and unitary transformations

$$\rho = U\rho_0U^{-1}, \quad \tilde{\rho} = V\tilde{\rho}_0V^{-1}$$

# The quantum metric for generic $q$

- $\rho, \tilde{\rho}$  parametrized in terms of diagonal matrices and unitary transformations

$$\rho = U\rho_0U^{-1}, \quad \tilde{\rho} = V\tilde{\rho}_0V^{-1}$$

$$U, V \in SU(N)$$

- given the diagonal immersion  $i : M \rightarrow M \times M$  the metric tensor is :

$$g(X, Y) := -i^*(L_X L_Y \mathcal{S})$$

# The quantum metric for generic $q$

- $\rho, \tilde{\rho}$  parametrized in terms of diagonal matrices and unitary transformations

$$\rho = U\rho_0U^{-1}, \quad \tilde{\rho} = V\tilde{\rho}_0V^{-1}$$

$$U, V \in SU(N)$$

- given the diagonal immersion  $i : M \rightarrow M \times M$  the metric tensor is :

$$g(X, Y) := -i^*(L_X L_Y \mathcal{S})$$

- $\implies$

$$g = -i^* d \tilde{d} \mathcal{S}_T(\rho, \tilde{\rho}) = (1 - q)^{-1} \text{Tr} d\rho^q \otimes d\rho^{1-q}$$

# The quantum metric for generic $q$

- $\rho, \tilde{\rho}$  parametrized in terms of diagonal matrices and unitary transformations

$$\rho = U\rho_0U^{-1}, \quad \tilde{\rho} = V\tilde{\rho}_0V^{-1}$$

$$U, V \in SU(N)$$

- given the diagonal immersion  $i : M \rightarrow M \times M$  the metric tensor is :

$$g(X, Y) := -i^*(L_X L_Y \mathcal{S})$$

- $\implies$

$$g = -i^* d \tilde{d} \mathcal{S}_T(\rho, \tilde{\rho}) = (1 - q)^{-1} \text{Tr} d\rho^q \otimes d\rho^{1-q}$$

# The quantum metric for generic $q$

giving

$$g_q = g_q^{tan} + g_q^{trans}$$

# The quantum metric for generic $q$

giving

$$g_q = g_q^{tan} + g_q^{trans}$$

with

$$g_q^{tan} = (1 - q)^{-1} \text{Tr} \left( [U^{-1}dU, \rho_0^q] \otimes [U^{-1}dU, \rho_0^{1-q}] \right)$$

# The quantum metric for generic $q$

giving

$$g_q = g_q^{tan} + g_q^{trans}$$

with

$$g_q^{tan} = (1 - q)^{-1} \text{Tr} \left( [U^{-1}dU, \rho_0^q] \otimes [U^{-1}dU, \rho_0^{1-q}] \right)$$

and

$$g_q^{trans} = q\rho_0^{-1}d\rho_0 \otimes d\rho_0$$

In the limit  $q \rightarrow 1$

$$g_1 = \text{Tr} \rho_0^{-1}d\rho_0 \otimes d\rho_0 + \text{Tr} [U^{-1}dU, \ln \rho_0] \otimes [U^{-1}dU, \rho_0]$$

# The quantum metric for generic $q$

giving

$$g_q = g_q^{tan} + g_q^{trans}$$

with

$$g_q^{tan} = (1 - q)^{-1} \text{Tr} \left( [U^{-1}dU, \rho_0^q] \otimes [U^{-1}dU, \rho_0^{1-q}] \right)$$

and

$$g_q^{trans} = q\rho_0^{-1}d\rho_0 \otimes d\rho_0$$

In the limit  $q \rightarrow 1$

$$g_1 = \text{Tr} \rho_0^{-1}d\rho_0 \otimes d\rho_0 + \text{Tr} [U^{-1}dU, \ln \rho_0] \otimes [U^{-1}dU, \rho_0]$$



# The case $N = 2$

$U, V \in SU(2)$ .

$$U^{-1}dU = \sigma_j \theta^j$$

# The case $N = 2$

$$U, V \in SU(2).$$

$$U^{-1}dU = \sigma_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} \left(\frac{1+r}{2}\right)^q & 0 \\ 0 & \left(\frac{1-r}{2}\right)^q \end{pmatrix}$$

# The case $N = 2$

$U, V \in SU(2)$ .

$$U^{-1}dU = \sigma_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} \left(\frac{1+r}{2}\right)^q & 0 \\ 0 & \left(\frac{1-r}{2}\right)^q \end{pmatrix} = \frac{a_q + b_q}{2} \sigma_0 + \frac{a_q - b_q}{2} \sigma_3$$

# The case $N = 2$

$U, V \in SU(2)$ .

$$U^{-1}dU = \sigma_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} \left(\frac{1+r}{2}\right)^q & 0 \\ 0 & \left(\frac{1-r}{2}\right)^q \end{pmatrix} = \frac{a_q + b_q}{2} \sigma_0 + \frac{a_q - b_q}{2} \sigma_3$$

and similarly for  $\rho_0^{1-q}$ .

The metric:

$$g_q = q \frac{1}{1-r^2} dr \otimes dr$$

# The case $N = 2$

$U, V \in SU(2)$ .

$$U^{-1}dU = \sigma_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} \left(\frac{1+r}{2}\right)^q & 0 \\ 0 & \left(\frac{1-r}{2}\right)^q \end{pmatrix} = \frac{a_q + b_q}{2} \sigma_0 + \frac{a_q - b_q}{2} \sigma_3$$

and similarly for  $\rho_0^{1-q}$ .

The metric:

$$\begin{aligned} g_q &= q \frac{1}{1-r^2} dr \otimes dr \\ &- \frac{2}{1-q} (a_q - b_q)(a_{1-q} - b_{1-q}) (\theta^1 \otimes \theta^1 + \theta^2 \otimes \theta^2) \end{aligned}$$

# The case $N = 2$

$U, V \in SU(2)$ .

$$U^{-1}dU = \sigma_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} \left(\frac{1+r}{2}\right)^q & 0 \\ 0 & \left(\frac{1-r}{2}\right)^q \end{pmatrix} = \frac{a_q + b_q}{2} \sigma_0 + \frac{a_q - b_q}{2} \sigma_3$$

and similarly for  $\rho_0^{1-q}$ .

The metric:

$$\begin{aligned} g_q &= q \frac{1}{1-r^2} dr \otimes dr \\ &- \frac{2}{1-q} (a_q - b_q)(a_{1-q} - b_{1-q}) (\theta^1 \otimes \theta^1 + \theta^2 \otimes \theta^2) \end{aligned}$$

# The case $N = 3$

$$U, V \in SU(3)$$

# The case $N = 3$

$$U, V \in SU(3)$$

$$U^{-1}dU = \lambda_j \theta^j$$



# The case $N = 3$

$$U, V \in SU(3)$$

$$U^{-1}dU = \lambda_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} r_1^q & 0 & 0 \\ 0 & r_2^q & 0 \\ 0 & 0 & r_3^q \end{pmatrix}$$

# The case $N = 3$

$$U, V \in SU(3)$$

$$U^{-1}dU = \lambda_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} r_1^q & 0 & 0 \\ 0 & r_2^q & 0 \\ 0 & 0 & r_3^q \end{pmatrix} = (\alpha_q \lambda_0 + \beta_q \lambda_3 + \gamma_q \lambda_8)$$

# The case $N = 3$

$$U, V \in SU(3)$$

$$U^{-1}dU = \lambda_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} r_1^q & 0 & 0 \\ 0 & r_2^q & 0 \\ 0 & 0 & r_3^q \end{pmatrix} = (\alpha_q \lambda_0 + \beta_q \lambda_3 + \gamma_q \lambda_8) \quad (1)$$

with  $r_3 = 1 - r_1 - r_2$ , and a similar expression for  $\rho_0^{1-q}$ .

The metric:

$$g_q^{tran} = q \frac{1}{r_j} dr_j \otimes dr_j$$

$$g_q^{tan} = -8 \left\{ \beta_q \beta_{1-q} \sum_{j \neq 3,8} \theta^j \otimes \theta^j \right.$$

# The case $N = 3$

$$U, V \in SU(3)$$

$$U^{-1}dU = \lambda_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} r_1^q & 0 & 0 \\ 0 & r_2^q & 0 \\ 0 & 0 & r_3^q \end{pmatrix} = (\alpha_q \lambda_0 + \beta_q \lambda_3 + \gamma_q \lambda_8) \quad (1)$$

with  $r_3 = 1 - r_1 - r_2$ , and a similar expression for  $\rho_0^{1-q}$ .

The metric:

$$g_q^{tran} = q \frac{1}{r_j} dr_j \otimes dr_j$$

$$g_q^{tan} = -8 \left\{ \beta_q \beta_{1-q} \sum_{j \neq 3,8} \theta^j \otimes \theta^j \right. \\ \left. + \sqrt{3} \left( \sqrt{3} \gamma_q \gamma_{1-q} + \beta_q \gamma_{1-q} + \beta_{1-q} \gamma_q \right) \sum_{j \neq 1,2,3,8} \theta^j \otimes \theta^j \right\}$$

# The case $N = 3$

$$U, V \in SU(3)$$

$$U^{-1}dU = \lambda_j \theta^j$$

$$\rho_0^q = \begin{pmatrix} r_1^q & 0 & 0 \\ 0 & r_2^q & 0 \\ 0 & 0 & r_3^q \end{pmatrix} = (\alpha_q \lambda_0 + \beta_q \lambda_3 + \gamma_q \lambda_8) \quad (1)$$

with  $r_3 = 1 - r_1 - r_2$ , and a similar expression for  $\rho_0^{1-q}$ .

The metric:

$$g_q^{tran} = q \frac{1}{r_j} dr_j \otimes dr_j$$

$$g_q^{tan} = -8 \left\{ \beta_q \beta_{1-q} \sum_{j \neq 3,8} \theta^j \otimes \theta^j \right. \\ \left. + \sqrt{3} \left( \sqrt{3} \gamma_q \gamma_{1-q} + \beta_q \gamma_{1-q} + \beta_{1-q} \gamma_q \right) \sum_{j \neq 1,2,3,8} \theta^j \otimes \theta^j \right\}$$

# The tomographic metric for N=2

## Spin tomography

- $\rho = \frac{1}{2}(\sigma_0 + \vec{x} \cdot \vec{\sigma})$

# The tomographic metric for $N=2$

## Spin tomography

- $\rho = \frac{1}{2}(\sigma_0 + \vec{x} \cdot \vec{\sigma})$
- $\mathcal{W}_\rho(m; u) = \langle m | u \rho u^{-1} | m \rangle$

# The tomographic metric for $N=2$

## Spin tomography

- $\rho = \frac{1}{2}(\sigma_0 + \vec{x} \cdot \vec{\sigma})$
- $\mathcal{W}_\rho(m; u) = \langle m | u \rho u^{-1} | m \rangle$  with  $u \in SU(2)$  labeling the tomographic reference frame



# The tomographic metric for $N=2$

## Spin tomography

- $\rho = \frac{1}{2}(\sigma_0 + \vec{x} \cdot \vec{\sigma})$
- $\mathcal{W}_\rho(m; u) = \langle m | u \rho u^{-1} | m \rangle$  with  $u \in SU(2)$  labeling the tomographic reference frame
- **it is a probability distribution**  $\rightarrow$   
$$S(\mathcal{W}_\rho, \mathcal{W}_{\tilde{\rho}}) = (1 - q)^{-1} \left( 1 - \sum_m \mathcal{W}_\rho^q(m; u) \mathcal{W}_{\tilde{\rho}}^{1-q}(m; u) \right)$$

# The tomographic metric for N=2

## Spin tomography

- $\rho = \frac{1}{2}(\sigma_0 + \vec{x} \cdot \vec{\sigma})$
- $\mathcal{W}_\rho(m; u) = \langle m | u \rho u^{-1} | m \rangle$  with  $u \in SU(2)$  labeling the tomographic reference frame
- **it is a probability distribution**  $\rightarrow$   
$$S(\mathcal{W}_\rho, \mathcal{W}_{\tilde{\rho}}) = (1 - q)^{-1} \left( 1 - \sum_m \mathcal{W}_\rho^q(m; u) \mathcal{W}_{\tilde{\rho}}^{1-q}(m; u) \right)$$
- $G_q = q \left( \frac{1}{\mathcal{W}_\rho(+; u)} + \frac{1}{\mathcal{W}_\rho(-; u)} \right) \left( d\mathcal{W}_\rho(+; u) \otimes d\mathcal{W}_\rho(+; u) \right)$

# The tomographic metric for $N=2$

## Spin tomography

- $\rho = \frac{1}{2}(\sigma_0 + \vec{x} \cdot \vec{\sigma})$
- $\mathcal{W}_\rho(m; u) = \langle m | u \rho u^{-1} | m \rangle$  with  $u \in SU(2)$  labeling the tomographic reference frame
- **it is a probability distribution**  $\rightarrow$   
$$S(\mathcal{W}_\rho, \mathcal{W}_{\tilde{\rho}}) = (1 - q)^{-1} \left( 1 - \sum_m \mathcal{W}_\rho^q(m; u) \mathcal{W}_{\tilde{\rho}}^{1-q}(m; u) \right)$$
- $G_q = q \left( \frac{1}{\mathcal{W}_\rho(+; u)} + \frac{1}{\mathcal{W}_\rho(-; u)} \right) \left( d\mathcal{W}_\rho(+; u) \otimes d\mathcal{W}_\rho(+; u) \right)$
- varying  $u$  we reconstruct the state  $\rho \equiv (x_1, x_2, x_3)$  (inverse formula), but for this we only need a **sufficiency set**

# The tomographic metric for $N=2$

## Spin tomography

- $\rho = \frac{1}{2}(\sigma_0 + \vec{x} \cdot \vec{\sigma})$
- $\mathcal{W}_\rho(m; u) = \langle m | u \rho u^{-1} | m \rangle$  with  $u \in SU(2)$  labeling the tomographic reference frame
- **it is a probability distribution**  $\rightarrow$   
$$S(\mathcal{W}_\rho, \mathcal{W}_{\tilde{\rho}}) = (1 - q)^{-1} \left( 1 - \sum_m \mathcal{W}_\rho^q(m; u) \mathcal{W}_{\tilde{\rho}}^{1-q}(m; u) \right)$$
- $G_q = q \left( \frac{1}{\mathcal{W}_\rho(+; u)} + \frac{1}{\mathcal{W}_\rho(-; u)} \right) \left( d\mathcal{W}_\rho(+; u) \otimes d\mathcal{W}_\rho(+; u) \right)$
- varying  $u$  we reconstruct the state  $\rho \equiv (x_1, x_2, x_3)$  (inverse formula), but for this we only need a **sufficiency set**
- $\left( u_{13} = \exp(i\pi/4\sigma_1), u_{23} = \exp(-i\pi/4\sigma_2), Id \right)$  yield

# The tomographic metric for $N=2$

## Spin tomography

- $\rho = \frac{1}{2}(\sigma_0 + \vec{x} \cdot \vec{\sigma})$
- $\mathcal{W}_\rho(m; u) = \langle m | u \rho u^{-1} | m \rangle$  with  $u \in SU(2)$  labeling the tomographic reference frame
- **it is a probability distribution**  $\rightarrow$   
$$S(\mathcal{W}_\rho, \mathcal{W}_{\tilde{\rho}}) = (1 - q)^{-1} \left( 1 - \sum_m \mathcal{W}_\rho^q(m; u) \mathcal{W}_{\tilde{\rho}}^{1-q}(m; u) \right)$$
- $G_q = q \left( \frac{1}{\mathcal{W}_\rho(+; u)} + \left( \frac{1}{\mathcal{W}_\rho(-; u)} \right) \right) \left( d\mathcal{W}_\rho(+; u) \otimes d\mathcal{W}_\rho(+; u) \right)$
- varying  $u$  we reconstruct the state  $\rho \equiv (x_1, x_2, x_3)$  (inverse formula), but for this we only need a **sufficiency set**
- $\left( u_{13} = \exp(i\pi/4\sigma_1), u_{23} = \exp(-i\pi/4\sigma_2), Id \right)$  yield

$$\mathcal{W}(+, u_{13}) = \frac{1 + x_1}{2} \quad \mathcal{W}(+, u_{23}) = \frac{1 + x_2}{2} \quad \mathcal{W}(+, Id) = \frac{1 + x_3}{2}$$

- Once the sufficiency set chosen, we can replace

$$dx_k = 2d\mathcal{W}_k(+; u)$$

and get the quantum metric in terms of tomograms

$$g_q = g_{jk}(q, x) dx^j \otimes dx^k \longrightarrow g_q(\mathcal{W})$$

- We have computed the quantum metric for finite dimensional systems

- We have computed the quantum metric for finite dimensional systems
- We have computed the tomographic metric



- We have computed the quantum metric for finite dimensional systems
- We have computed the tomographic metric
- We are looking for a reconstruction formula  $g(G)$

- We have computed the quantum metric for finite dimensional systems
- We have computed the tomographic metric
- We are looking for a reconstruction formula  $g(G)$